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Showing computations for r and t, of Q-S for total sample (N 100} 
B1 * N

_ Bixy - (zx) (iyH
[NZY2 - (ZY)2]

=100(306140) - (-905) (-1075)
J [100(491669) - (-905)2} [l00(626495) - (-1075)2]

= 29641125
48 5522§ 625

- 0.061

t
M1 " M2

m22 +ctm22 - 2r<JM1e:Mg--; ■

_(-9.05) - (-1.07)

48.3478 + 61.493875 - 2(0.61) (6.9534) (7.8418)

7.98

J 103.249

7.%
10.159

786
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B2
o

_[irgg - ax) kyU__________
J[nix2 - (ex')2] (nzy2 - (XYpJ

100(115882) - (215) (747)'

J 100(16?249r- C215)®" 100(181621) - (747)2
14427595 

" 17132357.76

-- 0.067

t
M1 " M2___________

—— ■ ■ g •

crM^ + tfM2 ~ 2raM],oMg

(2.15) - (7.47)

16.678 + 17.604091 - 2(0.067) (4.0841) (4.195)

5.32

31.991

- 5.32
5•6561

=: .94
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B3 I

rXY
f%XXY - (IS) (*y3.
- (yx)2] [ra2 - (*Y)2]

100(82701 1 - (-165) (~708'L.tu- 
(3-00(158257) - (165)2J fl°0^207604^ " C"708) J

8153280 178r~

- 0.455

t
M.2

2r<fM <*M>1 stfIVL + crM,
C

_(-1.65) - (-7.08)
| 315.7985 + 20.2591 - 2(0.455) (3.9749) (4.4999)

5.43
J 19.7807

5.43
~ 4.4476

1.221



\
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rXY ____ feg - ox) (gyp___ _
jinx2 - (ix)2] [iiY2 - (iy)2]

100(264377) - (2849) (2780)
p— ... r; " .— ----------------------------------- ^ ~ ----------------------------------------------- -- Aw *—[l00(357993) - (2849)2] |l00(402594) - (2780)2]

18517480
30007780.32

0.617

M

6W1 *5% 2r<?]IL<7Mr
^ 1 c

(28.49) - (27.80)

27.6825 t 32.531 - 2(0.617) (5.2594) (5.7035)

0.69
-------------4
23.1972

_ 0.69 
4.8166

= 0.143



3 S3

F, - C
■.... Mi .................

rXY
fay - (IX) (XY)1

jjIX2 - (EX)2] [NET2 a~i

(ZY)J
100(4371563 - (2700) (2549)

j[l00(6l9292) - (2700)2] f100(683160) - (2549)^]

_ 36833300 
“ 58115804.

= 0.6337

Me

<m2 t crM„2 - SrerM^erMg

(27.00) - (25.49)

54.6392 + 61.8186 - 2(0.6337) (7.3919) (7.8362)

1.51

42.7914

- 1*51
~ 6.5422

= 0.231
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Eraser - (rx) (tyA 
Jtmx.2 - (ix)2] Cn^t2 ~ C^y)2]

100(85798) - (929) (-260)____________
9045) - (929)2] [l00(429408) - (-260)2]

- 8921340
39307861.84

= 0.2269

t
M_ - M_

......... .........1-..... .2-..............-
‘ g g i
tfM + OM -- 2rffM.fTMo 

1 2 12

. _(9.29) ■ (-260)

J36.0415 + 42.8732 - 2(0.2269) (6.0033) (6.5476)

. 11.89

j 61.0825

11*89 
"* 7.8154

a 1.521
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Showing eemput&tions for r and. t of Q-S form for boys flf 53) 
B1

= _______ &IXY - (IX) (XY)7

J jjlZX2 - (Exi2] [kzz2 - (-ZY)2]

_53(120578) - (-1435) (-1905)
J[S3(260319 - (-1435)2] (53(375205) - (-1905)2]

3656959

13813675

- .26

M - M,
------1

2 2
tfM1 4 crMg - 2rc3M-|OMg

(-27.07) - (-55.94)
(8.88)2 + (10.45)2 - 2(.26) ( 8.88) ( 10.45)

8.87

139.7841

8.87
11.82

= 0.75
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B2 8

____ Grsg *• ax) (x.y5

J [mix2"- (ix)2J Tnu^- (ey)2J ~~
53(67863) - (435) (1123)

J £53(8464.7) -•> (355)2J {53(112001) - (1123)3

____ 3108234

4489189.02

- .69

!fl_“ M2

<31^ * cTMg - 2roM1<rMg

(8.20) - (21.18)

29.2877 + 31.0453 - 2 (.69) (5.41) (5.57)

12.%
18.7485

12.98 
^ 4.30

= 3.02
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% - i

..... ...Orscr - fexl feyil ___
J~[nix2 ~7ix)2J /Sr?" ~ (ly)2]

_________ 53(38738) - (-443) (-1171)
J [53(77879) - (-443)2j [53(110195 ) - (-1171)2]

1534361

4191601.01

= .37

<315 2
1

- Mg

+ tflg2 - 2p<JH;l<3CM2

(-8.35) - (-22.09)

24.4066 f 30.0187 - 2(.3,7) (5.14) (5.48)

13.74

35.5816

13.77
5.96

2.31
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s4 - p

Gtxy - ax') (rrJl
J~fee2 - (ZX)2J

53(178769) - (21610 (2533)

J [53(224931) - (2l6l)2] [53(273855) - (2533)2~|

4000944

7660773

' -

/
— g >

CTM2 + CTM2 - 2r0Mi<rMg

(40.77) - (47.79)

I 48.7075 +~54 *3954 - 2(.52) (6.98) (7.38)

7.02

J 49.5300
- 7.02

7704

_ 0.997



F-, - G

PjtXY - (ZX3 (EYfl

J [nix2 - (ix)2J jjm2 - (xy)2J

= 53C185108^ - (615) (-77)
JJs3(267307) - (6I5)2] [j53(329985) - (~77)2]

_______ 9858079

246293058918046

= .62

t
ol-L f <3"M2

'2

2rc5ff1£3'M2

(11.60) - (-1.45)

92.6204 f 119.9749 - 2(.62) (9.62) (10.95)

13.05

81.9749

13.05 
~ 0T05..

•=■ 1.44
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- s

rxy -=r ...... Grm - fex) (zyJJ

- _53(18624) - (-973 {-6541
J~[52(137263)' -~ (-87)£5o"(~2l4828)- -~(-654)^J

923634 
~ 89.23828

- .10

t
M! ^ M2

(TMy2 4crM22 ~ ZrmjcTMg

(-1.80) ~ (-12.33)

48.8055 +5- 73 .6105 2( .10) (6.99) (8.58)

10.53

110.4212

10.53 
= iO.51

~ 1.002



m c
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APPENDIX 2 (e)

computations for r and t of Q-S form for girls (N 47")

rXY =
GkXY “ (TX) (£y3_______

- (IXI2] &XY2 - (1Y")2J

47(185562) * (530) (830)

J[47(23135°) - (550)2J £47(251290) - (830)2J
82SI514 

“ 10842346.6

= .76

t
- Mg

CM f ffMg -

(11.28) - (17.65)

101.S170 f 107.-1220 - 2( .76) (10.09) (10.35)

6.37

50.5099

__ 6.37 
" 7.11'

= 0.90
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Bp ~ S'

rXY
faxY - Cix) (YY)1

,___________ 47(48019) - (-220) (-376)

\[47(82602) - (-220)2] [47(70620) - (~376)2J

2174173

3490445.58

= .62 .

t
CTM-^ + - 2refM1<3lI2

1-4.68) - (-7.52)

36.9272 + 30.6075’ - 2(.62) (6.08) (5.53)

2.84

25.8429
«

2.84
5.08

= 0,56
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B3 ' 1

rXY
&ZKY - (ZX) (TY')1

Cniy2

N

47(43963) - (278) (463 ‘)

[47(80378? - C278)2] [47(97409) - (463)2J
1932547

4018502.60

Mn ~ M2

ffM 2 + crMg2 2rtfM1<^Mg

(5.90) - (9.35)

35.6422 f 42.0317 - 2(.48) (5.97) (6.48)

3.95

40.5357

3.95
6.37

= .78
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- D

rXY
fexY - (TX) (SyU

47(85608) - (688) (247)_______________________
[47(133062) - (688) j [47(128739) - (247)2]

3853640
5884217.78

= .65

 M1 ~M2-.

JcfMi2 + #M22 - 2roM£tflfl2

(14.63) - (5.251)

J 55.6772 1* 57.6917^2(.65) (7.46) (7^60) 
9>38

f~39.6641 '

Q, .38
- 63U

= 1.49
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- G

rXT
fog ~ (IX) (SyU

r— o 2~l r~ P 2i
[nix - (IX) J [NIY - (IY‘) J

47(252048') - (2085') (2626)

[47(348985) - (2085)2J [47(353175) - (2626)2J

6371046
10815478

.59

1 "
-1_________ £

o'M1 + <m4 SraMjCfMg

(44.36) - (55.87)

f116.1117 f 93.4605 - 2(.59) (10.78) (9.67)

11.51

86.5659

1T.51

1 • 24



F 2 - S

Enixt - CTX') (TY)1______

-TO*- ,„-J
47(77174) - (1026) (394)

J [47(231782) - (1026)2] [47(214580) - (394)2j

3222934 
~ 9885451

- .33

M1 " m2

cfM 2 t eTM 2 - 2r<tM.tfMp 
1 2 1 *

,(21.82) - (8.39Q

94.7871 t 95.6438 - 2(.33) (9.73) (9^78)

13.43

127.6257

13.43
11.3SJ

= 1.19
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Siiowiiig computations for t of sex difference on ‘Question* form 
Boys : 53 
Girls: 47

B1 “ F

lVi"^ —

J (5M12 *■ <S Mg2
- (-27.073 - (11.28)
J78.8415 + 101.8170

38.35

180.6585

38.35
13.44

= 2.853

t M1 " «2
cfM-,2 +

(8.20) - (-4.68)
29.2877 + 36.9272

12.88
/ 66.2149

12.58 
= 8.137

= 1.582 i



B3 " 1

3j o
+ •S'Mg

(-8.35) - (5.90) 

26.4066 + 35.6422

14.20

>T 62.0488

14.20
7.881

1.80

208

+cr&!g'

(40.77) - (14.63)

48.7075 f 55.6772

26.14

104.3847

26.14
10.216

2.558



Pi - c

M. - ffiri. C

6M 2 + <ri 2 
1 2

_ (II«6) ~ (44.36)

/92.6204 116.117

32.76

I 208.7374

32 .76 
14.447

2.267

F - S 12________w'

- M_ 1 2

«*M t <3M 
1 2

= - (21.82)

48.8055 + 94.7871

23.62

143.5926

23.62 
11.983

1.971
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Showing computation for t of sex difference on ‘Statement* form
Boys : 53 
Girls; 47

B, N
M„ - M 

1 5

CTM^ i <SMr

(-35.94) - (17.65)

109.1965 + 207.1220

__53.59
^216.3185

53.59
14.709

= 3.643

Be S

M-,

CM, + dMr

(21.18) ~ (-7.52) 

31.0453 t 30.6075

28.70__

61.6525

- 28.70
- 7.854

— 3.65
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B3 ' 1

M. M.

j i tfM2

(-22.09) - (9.85)
f3oToi87T42.0sl7

31.94

72.0504'

31.94
8.488

3.76

B4 - D

M, - 1 2
2 2

f <nwg

(47.79) - (5.251 
/ 54.3954 + 57.6917

42.54

112.0871

42.54 
^ 10.587

^ 4.02
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- C

Mi -

<SM1 l-tfMg

(-1.45) - (55.87)

119.9749 + 93.4605

57.38

J213.4354

- 57.32 
w 14.605'

- 4.92

Mr

CTM * <TM 
1 2

(-12.33) - (8.39) 

73.6105 + 95.6438

“20.72

169.2543

-20.72 
r 13.009

- 1.59


